PING 2201:1b2:@:3::11 : 56 data bytes, press CTRL C to break
Reply from 2861:1B2:8:3::11
bytes=56 Sequence=8 hop limit=64 time = 5 ms
Reply from 2881:1B2:8:3::11
bytes=56 Sequence=1l hop limit=64 +time = 4 ms
Reply from 2861:1B2:8:3::11
bytes=56 Sequence=2 hop limit=64 +time = 4 ms
Reply from 2861:1B2:8:3::11
bytes=56 Sequence=3 hop limit=64 time = 4 ms
Reply from 2861:1B2:8:3::11
bytes=56 Sequence=4 hop limit=64 time = 3 ms

--- 28381:1b2:8:3::11 ping statistics ---
& packet(s) transmitted
5 packet(s) received
8.e8% packet loss
round-trip min/avg/max = 3/4/5 ms

{57586 _UNP_CEN @l1>ping ipve 2881:1b2:8:3::12
PING 2201:1b2:8:3::12 : 56 data bytes, press CTRL C to break
Reply from 28@1:1B2:8:3::12
bytes=56 Sequence=8 hop limit=64 time
Reply from 2881:1B2:8:3::12
bytes=56 Sequence=1 hop limit=64 +time = 3 ms
Reply from 2861:1B2:8:3::12
bytes=56 Sequence=2 hop limit=64 time = 2 ms
Reply from 2861:1B2:8:3::12
bytes=56 Sequence=3 hop limit=64 time = 2 ms
Reply from 2881:1B2:8:3::12
bytes=56 Sequence=4 hop limit=64 +time = 2 ms

3 ms

-—- 2881:1b2:8:3::12 ping statistics ---
5 packet(s) transmitted
5 packet(s) received
8.80% packet loss
round-trip min/avg/max = 2/2/3 ms

<57586_UNP_CEN_@1>ping ipw6e 2881:1b2:8:3::41
PING 2881:1b2:9:3::41 : 56 data bytes, press CTRL_C to break
Reply from 2881:1B2:8:3::41
bytes=56 Sequence=@ hop limit=64 time = 3 ms
Reply from 2861:1B2:8:3::41
bytes=56 Sequence=1 hop limit=64 time = 2 ms
Reply from 2881:1B2:8:3::41
bytes=56 Sequence=2 hop limit=64 +time = 3 ms
Reply from 2881:1B2:8:3::41
bytes=56 Sequence=3 hop limit=64 +time = 3 ms
Reply from 2881:1B2:8:3::41
bytes=56 Sequence=4 hop limit=64 time = 3 ms

-—— 2B@1:1b2:8:3::41 ping statistics --—-
& packet(s) transmitted
& packet(s) received
8.08% packet loss
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